
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 lk8f/L rf}s b]lv km]sg s'Dxf/sf] 3/ ;Dd ;8s 9nfg tyf b'j} tkm{ 

gfnf lgdf{0f
5,000,000.00       

2 ;n]dk'/ d]g rf}s b]lv /fhgf/fo0fsf] 3/ ;Dd gfnf dd{t tyf

;/;kmfO{
300,000.00          

3 rd]nLdfO{ lg/sf] k'n b]lv kfs/ rf}s ;n]dk'/ ;Dd ;8s dd{t

;'wf/
500,000.00          

4 lk8f/L rf}s b]lv df=lj= ;Ddsf] ;8s dd{t tyf u|]en 300,000.00          

5 d';x/L 6f]n ;n]dk'/df ;8s dd{t tyf u|]en 300,000.00          

6 j8f g+= !) sf] ljleGg zfvf ;8s dd{t tyf u]|en 400,000.00         

7 cfd] zflGt ejg lgdf{0f 1,000,000.00       

8 kz' ;]jf sfof{no ;n]dk'/sf] zf}rfno / xof08 kfO{ksf] nflu 200,000.00          

hDdf 8,000,000.00       

sljnf;L gu/kflnsf jf8{ g+= !) sf] of]hgfx?


